1 OJIBIMCBI3 KBAJIPAT
TEHJEYJIEPII LIIELITY

P S8A CHIHBIOBI




1 KBagpar TeHJiey AereH He'?

0 KeaTipuiren kBagpar TCHACY
IETCH HE?

1 KBagpar ymmyuie J1ereH He?




Y 1 )K¥MBICBIH TEKCEPY
No232

1)4x*-1=2x%+3x
2x“—3x—-1=0

Nt +3x+2=20"-5x+2

x2—8x=0

5)3x* +7x —6=6x*—2x - 15
3x2—9x —9=0
x*—3x—9=0

)i+ 12x+4=x"-x-6
8x*+13x+10=0

4)4x%? —6x*—2x =5
2x*+2x+5=0

6)x*+1—4x+3x*=x
4x2—-5x+1=0




No233

1) —5x(x +6) =4(x—3) —10
5x2+34x—-22=0

2)(x-8)2x+3)=(3x-5)(x+4)
x2+20x+4=0

Nx-3)(3x+9)=(x-8)(x+9)
2x?—x+45=0

Dy -NDN(Ty+49) = +8)y-7)
6y —y—287=0




No238

D(x-3)(3x+2)=(5x—4)(3x - 2) 4) i—::-l- i::: =
5x2—15x+14=0 r2 199 —16 =0
Dx+7)(7-2) =49 +x(x +2) S)(x-3)(x*+3x+9)=x(x-8)(x+9)
5x2 +2x =0 x2—72x+27=0
3) Jx—2 __Zx¥3 ) (x +7)(x*-Tx +49) =x(x +8)(x - 7)
2x+1 ax—1
I —14x —1 =0 x2—56x—343=0




KBagpar TeHaeyiH aepoec xaraaniapbeiaaa b HEeMece ¢,
HEMeCE €Keyl Jie O1pJiel HeIre TeH 00JIybl MYMKIH.

ax®+bx +c=0,(c #0) -KBaapar TeHICY
ax®+ bx =0, c=0

ax*+c=0, b=20

-~
—

ax° =0, b=0,c=0

byapabl TOJNBIK (TOJBIMCHI3) eMeC KBaJApaT TeH/ieyJaep JICI aTanbl.




ax®*+ bx =0, c.=0

x(ax+b)=0
x=0 Hemece ax+b=0
b
P
a

I-mwbican.

Sx%+4x =0 TEHJCY1H IICLIIHIEP.

[emnry1:

a=5b=4c=0
4

x1=0 X-2=_§

KayaOwr1: -4/5; 0.
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ax
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c=0, b=0
C C
a a

-
r

Ennemnie, a )koHE ¢ KO3()PUIIMEHTTEPIHIH TaHOAIaphl OPTYPIII

_
Oomysl kepek. Erep ¢ _ o Oomca,omma ,_. [ ¢
a - N a
C . . o
Erep ——-<0 Oonca,onga (c=# 0) memnimi OOJIMaiabI.
a
2-mbicai. )
=X F-3=0
[lemnryi: a=-1,b=0,c=3
X1 = \5; X2 = —\;'3

J

KayaOnr: *V3

3-muvica. ,
3x“+2=0

a=3,b=0,c=2 .
[Hlennmi
[MIerrimi 6ommaiibl. JKayaOnr: OoIMAal bl




4-mwicann.

[emyi:

ax’=0,(b=0,c=0)
x:=0

x1=x2=0

7x=0
a=7,b=c=0

X4 = x2=0

XKayaosr: 0




OKYJBIKIIEH KYMBIC.

235. Tenpeynin Ty6ipin TaOBIHAAD:
1) 2x2-5x=0; 2) dx’+7x=0; 3) 2x-Hx?=0;
4) 4m*-3m=0; 5)y*-2y-8=2y-8;  6) 3u*+T=6utT7




Refresh moment.

“My name 1s...”




239. Tenaeyai niemrinaep:

1)%-"32 ~5=0; .. 2)9y2 —-6,25=0;
55
3)1,44 — x? = 3x2; 4)7x =—8,5+x2%;

5)(2y—1)2 =10-4y; 6)(3m—2)(3m+2)=5m2.




The test questions

1. Coefficients equalization will show:. _ 5,2, 3, —¢
A. a=3, b=0, c=-2
B. a=-2, b=3, c=1
C. a=-2,b=3, c=0
D. a=2, b=0, ¢c=3
2. Incomplete square equalization will clarify:
A .1

§x2=0

B. _3x24+25x—7=0

C. 6x—05=20

D. The definition impossiblel.

3.Equalization remove: 2 _Z—
1 9
}! —_——
J 1
}! —_—
338
PR
D 3 5




Answers:
1-C, 2-A, 3-C.




Yure rarncelpma:
No236, No237
No240, No242




Q Q V ﬂ “OpKalllaH KYH COHOECIH
QU

p Cesi xa3ran JI. Omanun OHiH kxa3fad A. OCTpOBCKUMA
Q Aynaprannap [.Mom6etoB, K. blasipsico
& @ KyHn onemi, kek anemi,
7 % by cypeTi xac 6aaHbIH.
d k AK Karasra caJiraf o31,
d 6 % Kazpuiran 0ap ce3i.

Kanbipmacsr:
OpKalllaH KyH COHOECIH,
AcrianHaH OVJIT TOHOECIH,

Kaceimaa 60JICBIH MaMaM,
bomnaiiblH MeH e amaH.

Bright blue the sky,

Sun up on hight.

That was the little boy’s picture.

He drew for you,

Wrote for you too

That to make clear what he drew.
May the always blue sky,
May the always be sunshine.
May the always be mummy,
May the always be me.




